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Physics Unit Practice

Vocabulary definitions:

Reference Point: An QLangr ol @ !Aiecl J;of Cﬁﬂ?af Son }o obser ve Motion

Motion: A d\ﬂ\f\g:g M&)fbﬁ E\g\"\"]}e 'l‘t) Me___%,_r_ encl g]r‘d‘,

Distance: The 5}0+GJ IEQ%B fl’_l‘.f\yeje_gl _
Displacement:_ [he 16[\3:‘(}3 belween He end _[;p_il_(\i’ £_Spait Qy\f.

Speed_a‘_ﬂ*_f‘%t AN\ mgﬁl\om e uu\;% m e
VEﬂOClty: S e.e.ol lu\_s J'ré’.(‘:\‘;(j B

Contact force: :_& P_I‘\S]’\ ol PV_\{_(__ on () QQ 3ed: Egé',roxgdij‘jef“ﬂ\mj' 'S ’}‘OMC/[\M:) \JY

Noncontact force: & -E;f(. ‘l'{r\ﬂ*?\' Can A\ & gﬁglgj wr#\ouc}‘ Cm{‘a\c-F _@g&q aﬁ)jéc{s \

Grav1ty TL\Q O\+JIFN4IV& £Q Ked ée ween All iﬁcj& wrlLL MaSS .
Force: A P'MSL ol EUJ l OA AN 0‘7]&0‘]‘ o

Static friction: CONE"“—" -[al o= éﬁ'lﬂﬁ’f/\ i} 5 :xLAEi ﬂEﬂT MOVIQ%‘J‘M (eSists motioa Ix*u.em ‘H‘f’—m

Sliding friction: L condict S;of o lreeen Mong 013" e Sts moton & Slows ’}Lﬂoﬁcc‘h.
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Fluid friction: A “enielT 10/ A C"N\'ﬁi'\' X:OfC.e Le}w AC agwicl itz o Ot T ﬁ:_»_g‘s‘l S Mo‘Hﬁmﬁ‘Slﬁwj

. J
Net force: anf'- Ho -1 1T C K u’\ L ADP | C—P.

The Oéddc'h',

Inertia: | heo (es) —l'mua. H < I\axr\-ep ln__ M0 LON 06’ < WI"”\ MoS.§ LMVQ...

Practice Problems:

1. When is an object considered to be in motion?

W e/ ' ASTance o Al 'L‘b"\ o O §CC\¢ X if\+ c,_hq"'

2. When is an ObJECt NOT considered to be in motion?

NNACH ” l +G\(\ 3 ﬁf\q\ Gl FQ.CJ\/\O/\ ‘CCOV\. o~ (\E-E’f'_ % .\[\"\(&x' NG CNoNOC



Distance: QGH' Distance: \%()EA( Distance: g GO’ﬁ‘\’

Displacement: 2 )@r Displacement: [37-9' Displacement: O'?'L

Speed Problems: Lég

1. A girl cycles for 3 hours at a sgeed oWat distance did she travel?
d zext d=40kn/hex She  |d = d = 1gokm |

2. Mohammed is a runner. He runs the 100m sprint in 10.6 seconds. How fast did he travel?

S=d/g s:_\%Og ;@3 /s

3. Raja walks 100 meters in half a minute. What must her speed have been to travel at this

distance? 3= cJ/ t S "10(1*\/ 30¢ —\iSZ ("t/_}
5= 10004 .Smir\ f_ém/m%

4. Tanya backstrokes at an average speed of 8 meters per second, how long will it
take her to complete the race of 200 meters length?

t=d4 000, Goys @L

5. Maya’s SUV was detected exceeding the posted speed limit of 60 kilometers per
hour, how many kilometers per hour would she have been traveling over the
limit if she had covered the a distance of 10 kilometers in 5 minutes?
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Gravity questions: m
. If the moon was closer to the Earth the force between th%m would: ej&\ Vet n SQQO%’I

e

a. get smaller
b. disappear
C. sta ame

d. get lzlg@

. Which of these will feel the biggest gravitétional pull on Earth?
4. A 1,000keg elephant
b. A 100g mouse

c. A 100kg football player
d. A 10kg:bicycle '
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3. Which of these is not a correct statement?
a. Gravitational pull is less on the Moon than on Earth
b. Gravitational pull is less on top of Mount Everest than at sea level

@ere is no gravitational pull on the Moon
. There is a greater gravitational pull on Jupiter than on Earth

Static, Sliding, or Fluid Friction?
Swirnming in water: ﬂ;lg e

Dragging a sled ain
Walking 84-0\+ |1 C
What is the Net force?

Net force = SON‘L
Balancede¢ /o
Net force = XON -

2 N
et teren TN Balancede¢ NO

Balanced2e NO_

Net force = /N <
Balancede No

Net force = HON «
Balanceds NO

Write 3 made up examples of contact forces:
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Explain in your own
P y words what would happen if you were standing on a skateboard and Windo o, &

p
then pushed the wall: _he_(eackion force to AONE_push (3rd Law) sl tate youn

C [DG\C ' olS Siacg oA hale \RSS ine o 'H\_g\_t\_“\‘\;_e,_ Qdal\.

. . .
Explain which law of motion relates to why GPS satellites haven't stopped orbiting Earth:

“L 2D V\e.C ‘\f\. P'\O'l/TOT\ Jf < G.\.‘[ 'TLV@"&E:QE ON A Edﬁ.“l"‘"&. ALE EEZM! N
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Second Law Questions: @
1. A soccer ball was kicked. It had the mass of 0.42<g_md accelerated at 25m/s”. What was
A0S

the force? I =Mal =(0.42 l('f)> (3 S'f"‘/S'QD w

2. A force of 20 N acts upon a 5 kg block, Calculate the acceleration of the object.
C\=F/m A= QON — M/SQ
Sk

3. An object with a mass of 300 kg 1s observed to accelerate at the rate of 4 m/s”. Calculate

the total force required.

Feoe Fo200Kke)(40/sd) =(1200N

5. If objects A and B were pushed with the same force but object B had more mass than
object A, which object would accelerate more? (Hint: a=F/m) Q}) Eﬂd’ A

6. If objects A and B were pushed with the same force but object A was accelerating more

: }
~ than object B, which object would have more mass? (Hint: m=F/a) e

Define Newton's First Law: MMMMW

(otion will remain ot conStant veloc™y knless Acted on G:&GU\W\Q)WQQG‘ Yolce

The s celesstin of an obieck defends on e obects

- Define Newton's Second Law:
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Define Newton's Third Law: yb(‘ € Ve A A A Q rp A |
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1. While traveling along a highway a driver slows from 24 m/s to 15 m/s in 12 seconds. What is the |
automobile’s acceleration? (Remember that a negative value indicates a slowing down or de¢eleraﬁ1on.)

Lmk'.(\bﬁor:o\cc,e\emlrhm &Mi{jml __%ﬁ /s
0\ Vent Fime, inikial spd, final g8 BYEVEViz Sesemsez= oy A2 Tgm e S -*Oﬁv‘/sg

(elodOnShip | &= AE_

2. A parachute on a racing dragster opens and changes the speed of the car from 85 m/s to 45 m/s in a period

of 4.5 seconds. What is the acceleration of the dragster? . Ve t/n-V. = G £ — -L
Lookion Lol : 0cteleration Soludion . VF Vi= Tom/s %@m/ ’ LK}VS
%‘LVQA S (4.5 Q; V§ (L‘s”/ 5) ,V\'_(g Sﬁtﬁs) AR~ %:l/_ o % ~ -%.ﬁm/ 5;]

.h }\ I 458
re‘fk\ NS R I A= £ Vi
t
3. The table below includes data for a ball rolling down a hill. Fill in the missing data values in the table and
determine the acceleration of the rolling ball. | /<
Time (seconds)
T = S E— — e— 1
I N S o
S A
8 | 5 |
— 1w | T
N S E— -
BV _TSeK - ] Qoo - -

Acceleration= ~£  1Og

4. A car traveling at a speed of 30.0 m/s encounters an emergengy and comes to a complete stop. How much
time will it take for the car to stop if it decelerates at -4.0 m/s"?

\ok i noy Yol time 4o Siep
v il (3omys )3V (Ow/s), GL(%QP/ Sa) M /S :
Vr-V A Ow/ @ = Dot _ay L T2
A= L = ~A LS t t-ﬁ. — Y.0m/s?
/XS" If a car can go from 0 to 60 mi/hr in 8.0 seconds, what would be 1fs

.~ starting speed were 50 mi/hr? G2
%le‘ini) %@r L oged Ve

inal speed after 5.0 seconds if 1ts

Step o

aiven: £(8s), v, (SO P"VLV),AV (KO — \ : 7.5mifkefs * s = :37. SN/M-*
37.Seifhr 3 Va - Somifle = V3 = 375mi/he +0m/he 2|% 7. Seni/h

6. A cart rolling down an incline for 5.0 seconds has an acceleration of 4.0 m/s”. If the cart laSa beginning
| speed of 2.0 m/s, what is its final speed?

\.ﬁokimb bof = V3 , |
given:tzSs, ans®) V, 30V

ViV, AT b dms=DsGmys? V&z(ngqm%*‘BkM/S ;




